2L 218, 20 3IBFN3HI4IENBVP 16FY & 1 T4 [0 1F]
(BB WHREFLEIDIN 24 340 - A6)
FEiE, XZitiw, &HOBAKRE

FEF1 P nax = 400 bar BHHEERNEER
TRE Q pa=20Ipm BISBVGIFABVPT JLD7765 (Q . = 20 Ipm, prax = 400 bar)
BU-ZBVG3FABVP3 JLD7400 (Q \a = 60 IpM, Prax = 315 bar)
HI-SBE JD7921 (Q a0y = 70 Ipm, Pray = 400 bar, FEZE1E)
e
1. #E

NBVP 16B12{2i@, 2f3i@AN3f4 @B Xk (o) B REFEERE, BB, RIE, SN FHIRNE
AR BTERAMENFE, REORZMENEE. SLTEN, BESMHNASEHEEEFMH
. ERARAE, B A% EHERSREKEEIEEKNESREB TR TEIE.

° EAH folgn:
Type NBVP 16 R/2-G 24 Type NBVP 16 Y/2-WG 230
.
e L 1
A PTB A P TB
- TypE NBVP 16 G-GM 24 TypE NBVP 16 D-WGM 230
a b a b
A PT B A PT B
o RO. WMITLHOREMOAMANTH
RO, ITHO K E/HO89M T
P T Aand B

i} >|<
21511 o
R
[ElHE A #ILES .B.. BV.. BR..
REp A & 1537
(BERERENE)

m HAWE HYDRAULIK GMBH & CO. KG D 7765 N

HYDRAULIK STREITFELDSTR. 25 81673 MUNCHEN Seated valves type NBVP 16

© 2001 by HAWE Hydraulik July 2003-00




D 7765

N page?2

2.
2.1

At mM S EEZRARSH

BSKIBFEERASE

BIRSER
© NBVP 16 S/B 0,8 2 -WG 110 © LI
@ NBVP 16 G/B 0,8 R/ABR2,0 BBR1,5 /A3 B9/400/S - GM 24 Li fi,J
A PTB
BIEAR (WED
M (R4 @
Bt An T (0 3=6)
POMtINTTH (33D
— EHkE R E % (M%)
1 EXKR
[14=3 ks EA
Qmax (Ipm) pmax (bar)
NBVP 16
BB TA#RE 20 ggg /1)
DIN 24 340-A6
R2:HEEFS
R s z Y ZD 2 D 2 G 2
with detent
A P A P A P T P T A P T B A P T B A P T B
£=3: POMimMTH FR4:A. BORIK N
iyt RE 9 @ MimnrTi RS 9 >
) FIAMEE |RATFALES. D | (o
BO0,8 0.8
U B1,0 1.0 A, B TR AB 0,7 BB 0,7 0.7
o B1,2 1.2 AB 1.0 BB 1,0 1.0
B1,5 15 AB 1,5 BB 1,5 1.5
B 2,0 2.0 AB 2,0 BB 2,0 2.0
BO 9 0 AB 2,5 BB 2,5 25
R A, Buapit o F &) AR ABV 0,7 BBV 0,7 0.7
FE R ABV 1,0 BBV 1,0 1.0
ABV 1,5 BBV 1,5 1.5
ABV 2,0 BBV 2,0 2.0
A, BO A o @) R ABR 0,7 BBR 0,7 0.7
ABR 1,0 BBR 1,0 1.0
ABR 1,5 BBR 1,5 1.5
ABR 2,0 BBR 2,0 2.0

)
?)
3)
4)

W, iE4k AR, 5 OM... WOM... /& /) £.250bar, A FAHULEER, S, Y, Z (ZD)

RR T b A )
AL, AP IEE BT
HAEH IS 1T




D7765N page 3

A5 AL B R Ak RARJE R

JE Jy 4k 38 D5440 REMAE RS T
(AT TE (bar) ) G.D NBVP 16 Y/R//5-GM 24
R,S,ZY,ZD | A & Bu
THEDC (G ikdE ) 2
DG33  (200...700) 3 A3 B3
DG34  (100...400) 4 Ad B4
DG35  (20...250) 5 A5 B5
DG36  (4..12) 6 A6 B6
DG365 (12...170) 7 A7 B7
JEHED1077, EHTEE (bar)
NBVP 16 G/A9/400 B9/400-G 24
100 - 4 A9/100 B9/100
160 - 4 A9/160 B9/160
250 - 4 A9/250 B9/250 @ @
400 - 4 A9/400 B9/400 ! o !
600 == 4 A9/600 B9/600
a b
4%6: TO WAt A PT B
P e A K5
@ —
318 G
AT 845 K
BUEX | ES KA
Prmax WAL 5 EEZRH, AN LT
(bar) GRS 4 3k 4 LED T sk
400 R,S,ZY,ZD, G12 L12 X12 Uy=12VDC
kR 6) G,D G24 L24 X 24 Uy=24VDC
WG 110 ?) X 98 Uy = 110 V AC, 50/60 Hz (98 V DC)
WG 230 ?) X 205 Uy = 230 V AC, 50/60 Hz (205 V DC)
250 R,S,ZY,ZD, GM 12 LM 24 XM 12 Uy=12VDC
6) G,D 9 GM 24 LM 24 XM 24 Uy =24VDC
WGM 110 ?) XM 98 Uy = 110 V AC, 50/60 Hz (98 V DC)
WGM 230 ?) XM 205 Uy = 230 V AC, 50/60 Hz (205 V DC)
250 ) |R,S,ZY,ZD,G | M 24/8W Uy =24V DC, 8 Watt
220 RS, ZY,ZD,G |[G24ex 1) Uy =24VDC
I 400 H1/4  $MEw G 1/4 FERETD contrmin = 24 bar
A Pcontr max = 400 bar
=HES: P . =3 bar
% 400 R,S,ZY P ShgET G 1/4 contr min
,hljj ’ _S’ ’ Pcontr max = 15 bar
- (without
F 3 400 G,D,ZD) |a BWibdndE: £ 1.5 ... 3 Mm
o3 55 . = %
B 400 T RA BYEH: F=%. 80 ... 190 N
K AR BAES: F=%.22 ... 35 N
M5 o, Bk BIEAXAHHL/ 4 A F3 ‘ AU,
P /fﬁ’ﬁ' RAE
a i a i a Oho B ﬂ a 5 ﬁ a
anjl GL‘T‘ 0%1} OL‘ } a } 057}
L - <‘ L B B B
g 3
N BERA 4 EAHEEVGCL/S

2) DC (98V DC 205V DC) # #7045k
3) AMH, ke EAGRERAER —1

5) GM, WGM, LM, XMEL.G, WA,




D 7765 N page 4

3.
3.1

yﬁl

g St
J?

E

&

<\

7
(342238 77 &) 1))

r% Ay
be\m

EE

EATEA
HARB A
AR R B AL

JiE (EE) #hkg

I AR

Ap-Q £,

TR BT i 449 55229

60 mm?2/s

[E-3
FEE (R AR T @, 65— AR T @2 b T RATEEHA),
ERZE SUE AL SRy k]

AT
M A, BAPZ2xP ., T=50bar
AR, AMRER (R AR
FAR (B3R UML) NBVP 16 R | NBVP16Z | NBVP 16ZD | NBVP 16 G
NBVP 16S | NBVP 16Y NBVP 16 D
G.., G 24ex, 15 1.7 2.2
Fa— L., X.., WG.., M..
GM..,.LM.., 1.4 1.6 2.0 2.1
XM.., WGM..
RIE H1/4 1.1 1.3
A P 1.0 1.2
F3h A 1.4 1.6
PR, T 1.1 1.3
K 1.4 1.6

EHgERE +0.3

W EhEDIN S152484% —F % =34~ 1S0 VG 10£ 6887 (4R

JEDIN 51519) #EEE: RAKL4; RBHL1500 mmd/sRAZATTEE: £910...500 om?/s
EATREBETOC AR B, #iEA% FIHEPCR! (JJ54E =B ) F=HEES, & (A mJE) ,
T A Mo TAE R

SR AE: 4 - 40..480 C, hHim: -25..+80 C, MEZFAETLE!
AFRFRE: 40 C (EFERHFE) , SHENIBLEBTREZE Y & F20K0.
Ti% o (Ffig) THk: E2EAS] RE|EGEIE. £ ERIFHWAE, =
FLARIT+T0T,

Q max =201pm

EER %@%&@%%kﬁm@g%a&@%%%%,@gm
ﬁX/}&f%‘%ﬁEi]ﬁ/} ’]‘U\L T«'mu:ﬂ‘&;&/ w2 [R5 /é'—"]k2 117%}@,{15’]QMAXJ:
BEFRILCALTEFREM. 2T 2 FMOTA, ANE2L 1FH LS4
FEE (BRI 15 £3, 6) L wiﬁ/,.uaki*aﬁ)iﬁm@b

A W A AL
30 300
200 @8 ‘/
= ‘\//4 é /5
g8 % o 100 L& v
> T o " |
< e 3 Sy 8/ &
R 10 > ?'\E « Q 50 (Q(Q Fe
nl. N| o ~ & /-, Q«
I I < S S
=1 ')
12 0 5 10 15 20 g 87
AEQ (Ipm) {10
=
| 5
1 5 10 50
0 #ZQ (Ipm)
5 e
8 20 Pl
g G N
10 N
& DO
= S
S |_—F &Y
= 6]
2 0 5 10 15 20

13

AEZE Q(pm)




D7765N page 5

3.2 By
w0, Ask
AP R, )i AR iK 34 4% VDE 0580
R G12| GM12| G24| GM 24| G 24ex| M24/8W| WG 110| WGM 110| WG 230, WGM 230
L12 [LM12 [L24 | LM 24 |--- --- - --- - ---
X12 | XM 12 | X24 | XM 24 | --- --- - --- - ---
AR R Uyv |12 [12 [2a |24 |24 o4 1o |10 [ 230 | 230
DC, /& AC#,E, 504260 Hz
DA PyW) | 294262 | 276 | 26.5 | 234 | 8 28.6 | 24,8 |3o,2 | 28
S AEAE DCe /& ACH, /R
- N 26l F 2 ) 2 ) 2 3 s
LA (12(});] S, 5L, AF24/8W A EWC. . o, Bk %
E Ex mlIT4 =
PTB Nr. Ex =8
93.c.4074 ] ’ JtL
SKDIN 43 650 —
izﬁ%% Eﬂ:/kk Q) //
o B R 45 al Z 27 |
A 4855kPg 9 LN N e
W Aodssk, JLD 7163 M = ¥
1 2 PE 1 2 PE 4 3 2 1
+24V 0V 24V
Switching signal  Diagnosis
intiE) (AFAR) FBRYIT: £950...60ms, *FFWC... K2-34F IEATI G AR 2T 38 o, B 18]
) i .
TR 57000, EFH DA (100%EDAFF @ Ak E)
Min. pulse duration approx. 500 msec with flow pattern ZD
80
55 47 % IP 654DIN VDE 0470/Bn 60529/IBC 529 .
(B ZEK) ® 70
=}
60
YRR A F
ik kB £98°C, FEBEAH20CH w C
i W,<0.4Ws :g 40
ER@EE (RAEK) DIN 50981 — %k/4% 12 bk cC € 30
30 40 60 80 100
A% 38 W, B A %ED — 5434
Notes regarding versions with ex-proof solenoid: ABXTE B I i
Letter of conformity TUV-A-03 ATEX 0017 X
Protection class EEx d IIB T4 112G
Required external fuse (conf. DIN IEC 127) IN<1.6 AT
Mounting Protect against direct sun light (see also restrictions at "Temperature")
Observe the operation manuals B 02/2003 and B ATEX!
Electrical lay-out and testing conforming EN 50014, VDE 0170/0171 T1 and T9.
Coil and armature cavity moulded.
RIE Az F3 AU,
(coding H 1/4) (coding P) (coding A) (coding T) (coding K)
FEHE S Peontrmin | 24 bar 3 bar
Pcontr max | 400 bar 15 bar --- --- -
I8 3509 SLIFIRIE
T g An 2 R
< 2 bar - - --- ---
Zﬁ ﬁ ?X g/:, L5 Pcontr max bar 217 L.5P contr max bar | --- - -
=4 H= L) 1.4 cm3 9.3 cm3 - - ---
AP L 2R mo Boe W "o
GeH %) EHD | Fam) RBR
k= 2 AR ARE R
BAEA4E #1.5...3Nm
BAET #80...190N | £922...35Nm




D7765N page 6

41 |#

4, TTHERST maRTHLUmt RBE3UR

BUS NBVP 16 G, D

4x0—Ring

9.25%1.78
NBR 90Sh

]
81 ?j 4)-” 81
\
4xSocket head screws
ISO 4762-M5x55-12.9
13.75+a01
—_— | |-
17.5 36
R @ =S
: o (IH"@ @& il -«
%\
(232)
JEMILR B
20
(TAALE) < e o o
o N ~ 3 S
[Ye)
S @
© o)
°l &
Ol ©
=
0 DU
I A L
- \ e \ f
SIL A NB| | ol 4
\ (. U \ N
15.5 | (1 |
> P o+t
25.9 [ ) I A
31 max.6.3

Mounted pres-
sure switch

32

max. 95

50

49.5

Mounted pres-
sure gauge

119.5




D7765N page7

Type NBVP 16 R, S, Z,Y Type NBVP 16 ZD

‘ none
‘ ‘ o

e
[

AAAAA

2
X000 )
B e

‘ K

B ‘ ‘ ‘

For

missing
data, T @ P
see @ . @
below!

5 ¢ ! | @%

@Tm s = | & B¢
: , " ] T
31 LJUL %ﬁ [XXXXY ‘ ‘ ‘
L %% KXXXN

Mounted pres-

L max. 96,3
Eﬂgg\‘
@ |
&
n
nllm
el
@ -
> I
@ -

©,
O

max. 80

- - sure switch _ _
45 i 1) A£DST765-2
Gl o17i00mm | ~
. 2) BpEIR R4 2%
S AB.P.TU B4 ) BAEE R 42T

O-ring 8.73x1.78 NBR90 Sh 1)
4AR 4T
ISO 4762-M5x30-8.8- zinc plated

42 i=HIEH

BRI
ARAGG ... FaWG ...
Symbols R, S, Z, Y, ZD Symbols G, D
Cable gland
T 4t approx.
ATEZRYE  oorox. approx. P99 037 e P

35 34 35 3)

approx.
35
approx.
35

80.5

44® J
79.5

44.25

approx.
38.5

3) Attention: This dimension depends on the manufacturer and may be max. 40 mm acc. DIN EN 175301-803 to (DIN 43650)!
4) Solenoid may be installed off-set by 4x90°. Plug may be installed off-set by 2x180°.




D7765N page 8

ARALG 24 ex AL I Ltk

Coding GM and WGM
all symbols
Manual emer- approx. . approx.
837 gency actuation 34 3
‘ % AL &M
) = 0
S g”
0 © BT E R RELER)
¢ | s | ﬂ] _® AR
T = QN
— | 8® e RFHE, AL ) REMN LB
FI:':‘ =0 ZBRAEA ORTUMST IL) & A 3E3h, I

hAENIE.

2% BREEAH BRI, £100
barft #4195 NI

Coding G 24ex
Symbols R, S, Z,Y,ZD, G

Coding M 24/8W

Manual emer- Symbols R, S, Z, Y, ZD, G

gency actuation
‘ 36 54.5

Jil N h

I==1 (71} LEL

E@j |
o o

|

&
80.5
k=3
8
~
m
86.5
81

® © g @ @ e




D 7765N page 9

RIEBRYN E&E 3N F IR §
KL H 1/4 R P KA A "*
931 $34.5
,’CW / ‘L, Gl /4
z —+‘ ; /
‘ T ; //
||
I | >
| 2 % 3 ///
b/
1
A e @
= | L T B T 00
©
22.5 22.5
OF B27 x2.5 0F B 31 x 3
FPM 70 Sh FPM 70 Sh L
HREAAI R © L @L %L J/
3.5 35 18 35
HUAR IR YN
ARAT R ALK
‘8
9 925 ~ >
| ) } &U |
N | 1
930 5 a ! <
£ ‘ ] ﬂ%f—ﬁ R
U .. P}j %
& T )
- < w2 e
™ L 5 £ ©
i s ® | @- g | \
- 1T AT RAAEH3)
3.5 35 18.5 45
B4k AFA£100...400 barht:
A5 NBVP 16 R-T= 80..140N
NBVP 16 Z-T =140... 190N IAEATAE (), NBVP 16 R-K | NBVP 16 S-K | NBVP 16 Z-K
NBVP 16 S-T =140 ... 190 N P
JEEE L (Heh) 66 66 66
D A 0s . TR h 14 10 14
7 HL: . mmz AT S o
1 mm TAEATAE WAL ETE s + +
0.5 mmE&4A LR B N %26 % .22 %35
5. Mi®
51 Tii7l, oBEES
K5 A5 K5 A5
B.. EUMA-Diise DIN 913 s ER 14
M8x8-B 0
M8x8-B 0,8 (J 0.8) ABV ... EBR 14-B 0,7 (& 0.7)
M8x8-B 1,0 (@ 1.0) BBV ... EBR 14-B 1,0 (& 1.0)
M8x8-B 1,2 (@ 1.2) ABR ... EBR 14-B 1,5 (& 1.5)
M8x8-B 1,5 (& 1.5) BBR... EBR 14-B 2,0 (& 2.0)
M8x8-B 2,0 (@ 2.0)
AB... 7966 003 a (@ 0.7)
R ER 13 BB... 7966 003 b (& 1.0)
7966 003 ¢ (@ 1.5)
7966 003 d (& 2.0)
7966 003 e (& 2.5)




